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TEST CODE
2004

1.

4.

Which of the following statements is true ?

(1) Natural numbers are commutative for
subtarction

(2) Whole numbers are commutative for
subtraction

(3) Integers are commutative for subtraction

(4) Rational numbers are not commutative for
subtraction.

a+b=D>b+aiscalled

(1) Associative law of addition

(2) Commutative law of addition

(3) Distributive law of addition

(4) None of these

Find th 1 ng—JriX—g
ind the value o 7718 "9 36
Nl o L
(1) 15 @ 3
5 2 a2
@) 5 ) 5

The largest number of the three consecutive 4.

numbers is x + 1. Then, the smallest number is
(1) x+ 2 (2) x +1
(3) x “4)x-1

PART-A : MATHEMATICS

CLASS - VIII

ZONE - 11

= #4 4 P peo I § ?
(1) UTerd A e | o faferrg gl 2 |

(2) got e @der H o fafrg gl 2 |

(3) qurtes e et T ¥ fafr Il 2 |
(4) TR¥T ST Fhe &1 HH AT T8 B |

a+b=b+aPEAE |
(1) Ir1 &1 |y A
(2) a1 &1 wH fafr o
(3) I &1 faRa fam

(4) 379 9 BIS TE
2 7 4 9 .
718" 9 5 T TP
1

1) 15 (2) 3

2 9
©) g 4 5
x + 1 O PRI 1Rl § I9d g9) I 2, A1 99 BIe
Fe=r Bl
(1)x+2 2) x +1
(3) x @) x-1

Space for rough work

1
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5. Seven times a number is 42. This statement in the 5. & T &1 7 0N 42 § T AT BT FHIDHRO] DT W § —
form of an equation is

(I)x+7=42 (2) 7x =42 (I)x+7=42 (2) 7x =42
(3) x/7 =42 4)x-7=42 (3) x/7 =42 4)x-7=42
6. A number when divided by 5 gives 6. This 6. &l GEIIH 5 BTHRI I TR 6 UK BT & AT BT FHIHROT
statement in the form of an equations is PIHY T —
(1)x -5=6 2)x+5=6 (1)x -5=6 2)x+5=6
(3)x/5=6 (4) 5x =6 (3)x/5=6 (4) 5x =6
7. Sqaure root of 10020.01 is 7. 10020.01 &1 A © |
(1) 102.1 (2) 103.1 (1) 102.1 (2) 103.1
(3) 101.1 (4) 100.1 (3) 101.1 (4) 100.1
63 . 63
8. Square root of \/% is 8. \/% B AT —
3 3
(1) 2 (2) 1.5 (1) 2 (2) 1.5
4 7 4 7
G 3 4 5 G 3 4 5
9. How many natural numbers the between 8%and 9%: 9. 823iR 92 & Heg fhd= UTqd | 8 ?
(1) 16 (2) 17 (1) 16 (2) 17
(3) 18 4) 19 (3) 18 4) 19

Space for rough work

2

y.
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10.

11.

12.

13.

The smallest number added to 680621 to make 10.

sum a perfect square :
(1) 4
(3) 6

2) 5
4) 8

If ZA and ZC are two opposite angles of a 11.

paralllelogram, then :
(1) £A > «C
(2) £ZA = «£C
(3) £A < £C
(4) None of the above

Adjacent angles of a square are : 12.

(1) Acute angle

(2) Right angle

(3) Obtuse angle

(4) Supplementary angle

The measures of three angles of a quadrilatral are 13.

65°, 75° and 85°. The measure of the fourth angle
is :

(1) 65°
(3) 85°

(2) 75°
(4) 135°

ZONE - II
680621 H HaH BICI 1 F&1 e 9l foh IR U got
CHEECER
(1) 4 (2) 5
(3) 6 4) 8
AR I § A 3R £C G5@ IV 8, al :

(1) ZA > £C

(2) ZA = £C

(3) ZA < £C

(4) SR H A BT T8
I P 3T BT B &
(1) 57 Prot

(2) FHBIU

(3) 1f® BT

(4) EFGRD DIOT

TGS B I DIV BT AT 65°, 75° 3R 85° &, Al A1 HIYT
BT

(1) 65°
(3) 85°

(2) 75°
(4) 135°

Space for rough work

3

y.
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14. Diagonal of parallelogram ABCD intersect at 0. If
15.

16.

17.

Tecno'23
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NATIONAL OLYMPIAD

£ZBOC =90°, /BDC = 50° than ZACB =

(1) 40° (2) 90°

(3) 10° (3) 50°

The diagonals of a rectangle are 2x +1 and 3x -1,
respectively. Find the value of x .

(1)1 (2) 2

(3) 3 “4) 4

In Parallelgram ABCD if
AB=2x+5,CD=y+1,AD=y+5 BC=3x-4
than AB : BCis :

(1) 31: 35

(2)71:21

(3)12:11

“4)4:7

A triangular pyramid has number of faces

(1)1 (2) 2

(3) 3 “4) 4

14.

16.

17.

TEST CODE
2004

AR IgYST ABCD & faarol tReaR 0 WR ufiiess & 2 |
gfd «BOC = 90°, #/BDC = 50° @l ZACB =

(1) 40° (2) 90°
(3) 10° (3) 50°
. If o & faeol HHen 2x +1 91 3x — 1 &, A x BT 719
ST DIy —
()1 (2) 2
(3) 3 4) 4

HATR TGS ABCD H I
AB=2x+5,CD=y+1,AD=y+5, BC=3x-4£g,
T AB : BC 817 :

(1) 31:35

2) 71 : 21

3)12: 11

@) 4:7

rytrer fAxfie ¥ gl @ dwer e 2

(1) 1 ) 2

(3) 3 4) 4

Space for rough work

4
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18.

19.

20.

21.

22.

The top view of a cone looks like this :

(1) A circle (2) A square

(3) A Rectangle (4) A Triangle

Volume of a cuboid of length (I), width (b) and height
(h) is :

(1) Ibh

(2) Ib + bh + hI

(3) 2(Ib + bh + hl)

4)2(I+bh

If the length and breadth of a rectangle are 25 cm
and 20 cm, respectively, then its area is :

(1) 100 cm?

(2) 500 cm?

(3) 300 cm?

(4) 200 cm?

Volume of cuboid having length 5.1 m, breadth 2m
and height 2m.

(1) 19.4 m®

(2) 20.4 m®

(3)21.2 m®

(4) 24.4 m®

The area of a thombus is 70 cm?. One diagonal is
14 cm. The other diagonal is :

(1) 20 cm (2) 10 cm

(3) 5 cm (4) 15 cm

18.

19.

20.

21.

22.

CLASS - VIII

ZONE - 11
IFTHR I B top view faw@TE T2
(1) T gt (2) T a1
(3) T 3T (4) T Pt

T BT AT FTAD! @ g (I) AISTE (b) R &a1s (h) &

(1) Ibh

(2) Ib + bh + hI

(3) 2(Ib + bh + hI)

4 2(@0+b)h

Ife ITIT B TS AT SIS HH 25 cm AR TFETS
20 cm B, 79 SHPT &Thel & —

(1) 100 cm?

(2) 500 cm?

(3) 300 cm?

(4) 200 cm?

19 BT AT TP o618 5.1 m dreTs 2m 3R SaTs
2m &

THAGS @1 &% 70 cm? IR TF AFot 14 em 2, T
=T faaot g
(1) 20 cm

(3) 5 cm

(2) 10 cm
(4) 15 cm

Space for rough work

5
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23.

24.

25.

Tecno'23
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The area of the trapezium is :

2 cm

3 cm

4 cm
(1) 9 cm? (2) 6 cm?
(3) 7 cm? (4) 24 cm?
If a and b are two positive rational numbers where 24.
a > b, then
) a+b - a 5 a+b <b
(1) = @ =
3 a+b _ a a+b °b
@) — “ =

Which of the following is the area of a rhombus ?
(1) Product of its diagonals

1
2) =% (sum of its diagonals
2

1
(3) 2 (Product of its diagonals)

(4) 2 x (Product of its diagonals)

23.

25.

TEST CODE
2004
T TGS BT AFAB BT
2 cm

3 cm

4 cm
(1) 9 cm? (2) 6 cm?
(3) 7 cm? (4) 24 cm?

gfe a 3R b 1 gD IRAT AT & Sigta > b, a

a+b a+b
(1) 5 >a (2) 5 <b
a+b a+b
@) 5 ~2 (4) —5—>P
T 5 & P A BT &Fh ?
(1) dhU DT TTh A

1
(2) 5x (it 1 I

1
3) 5 (Rl @1 orFTEe)
(4) 2 x (Rl 1 )

Space for rough work

6
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PART-B : MENTAL ABILITY TEST CLASS - VIII

ZONE - 11

26. If DEER = 12215 and HIGH = 5645, how will you 26. Jfd DEER = 12215 @21 HIGH = 5645, HEEL ?

TEST CODE
2004
code HEEL?
(1) 2328 (2) 3449
(3) 4337 (4) 5229

27.

28.

If LISTEN is coded as 593417 then SILENT is coded 27.
as:

(1) 391754 (2) 591734

(3) 395174 (4) 591743

The figure that best represents interrelationship 28.
among "Star, Moon and Mars".

—_—
—_
~

O

(2)

O
O

(3)

(4)

b

(1) 2328 (2) 3449

(3) 4337 (4) 5229

af& LISTEN &I 593417 &8l WY a1 SILENT &1 a1 dal
STRATT

(1) 391754 (2) 591734

(3) 395174 (4) 591743
fer=forRad & & @19 91 IR "R, AT 3R A" & 41
AR BT A 37 ufaffee ovar 2.

O
@00

o (LD

Space for rough work

7

y.
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Identify the diagram that best represents the 29.
relationship among the classes given below :
Ornaments, Gold, Silver

(1) . ()
(3) GBZ) (4) OOO

Which one the following is correct? 30.
96 *6*8*2

(1) + =, x

(2) X’ =’ +

(3) =, +, x

(4) =% T

After interchanging + and +, 12 and 18, which one 31.

of the following equation becomes correct?
(1) (90 x 18) + 18 = 60

(2) (18 +6) + 12 =2

(3) (72 + 18) x 18 =72

(4) (12 +6) x 18 =36

TEST CODE
2004

I IRW B TgA B Sl Al fIQ 0 a9 & i a7 Bl
FIITH Y | ST 2—

TR, AT, AT

(1) . ()
(3) ng) (4) OOO

ferafaRad 5 9 ®19 |1 98 8?
96 * 6 * 8 * 2

(1) = =, x

(2) X, =7+

(3) =, +, x

(4) =% F

£ 3R+, 12 3R 18 BI MU H g5 @ 91g, fFrefalad §
J DIF AT FHIDRT T B STl 27
(1) (90 x 18) + 18 = 60

(2) (18 +6) + 12 =2

(3) (72 = 18) x 18 = 72

(4) (12 + 6) x 18 = 36

Space for rough work

8
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32.

33.

34.

35.

36.

Three statements of numbers following same rules
are given. Find the rule and accordingly find the
value of the number ?

If 32 x 41 =15; 51 x 34 =47 ; 41 x 52 = 37,

then 87 x 53 = ?

(1) 68 (2) 64

(3) 85 (4) 18

Shyam walked 6 meters towards East, then took
a right turn on walked a distance 9 meters. He
then took aleft turn and walked a distance of 6
meters. How far is he from the starting point?

(1) 15 meters (2) 21 meters

(3) 18 meters (4) None of these

The 1%t Monday of April, 2006 was on which date?
(1) 27 April (2) 3 April

(3) 4™ April (4) 5™ April

The calendar of which year is similar to the calendar
of the year 1990?

(1) 1994 (2) 1996

(3) 1997 (4) 2001

49" students of a class Nitin gets 18t position from
start. What is the rank of Nitin from end?

(1) 18 (2) 19

(3) 31 (4) 32

32.

33.

34.

35.

36.

CLASS - VIII

ZONE - 11

T fRIET &1 Ut B arel |18l & OiF S fay
2 | a9 S1a ST IR TETaR 61 &1 71 §11d S ?

afd 32 x 41 = 15; 51 x 34 =47 ; 41 x 52 = 37, 74
87 x 53 =7

(1) 68 (2) 64

(3) 85 4) 18

T 94 B MR 6 e g, fhv 10 gsav 9 Hiex a1 ¥ )
=re | TR 98 919 =1 2 3iR 6 Wiex o X T Il & | 98
o fig & faral gr 2?2

(1) 15 #Hrex (2) 21 #Hex

(3) 18 #Hex (4) 379 9 BT A
3 2006 BT Ugel AR fHd ARG &I o1
(1) 27 ar¥a (2) 3% 35

(3) 4t 35 (4) 5% 3

forsg a9 BT Detex g9 1990 B Dorsx D FHIH 27

(1) 1994 (2) 1996

(3) 1997 (4) 2001

e 5 U et B 49 d fyenfefut o uet | € 18 g v
ure foran | ofd & fAfis &1 s w8 ?

(1) 18 (2) 19

(3) 31 (4) 32

Space for rough work

9
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38.
39.

40.
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Five birds, Crow, Pigeon, Little Pigeon, Big Crow 37.

and Eagle fly one after other from a tree branch.
Big Crow flew after Crow but is ahead of Eagle.
Pigeon is between Crow and Big Crow. Little Pigeon
is before Crow. Which bird is the last?

(1) Pigeon (2) Big Crow

(3) Eagle (4) None of these

Find the missing term 38.
Glove: Hand :: ? : ?

(1) Neck : Collar (2) Tie : Shirt

(3) Socks : Feet (4) Coat : Pocket

Find the missing term 39.
49:169::66:7?

(1) 125 (2) 121

(3) 144 (4) 225

Roy walked 2 Km. to East, then turn North-west 40.

and walks 3 Km. Then he turn South and walked
5 Km. Then again he turns west and walked 2
Km. Finally he turned North and walked 6 Km. In
which direction, is he from the starting point ?
(1) South-West (2) South-East
(3) North-West (4) North-East

TEST CODE
2004

Uig Gefl, DIRM, B, BITT B, I$1 DI3M IR Al U &
1S T U P T A I © | I81 DIAT did B U I 11
QAP TTA R 2 | LR DA IR IS DA D S HBIAL |
BICT BYTR DId & AT & | DI A1 Uall ifer 8?2

(1) PYR (2) w1 BI3A

(3) TES (4) T A DS 7T
W U S DI |

TEE BT ? o ?

(1) & : DR (2) 3 : e

(3) AreT : R (4) de : 99

W U S DI |

49:169::66:7?

(1) 125 (2) 121

(3) 144 (4) 225

3Fa 2 f5Hl gd 1 31R Fefl, fhR ITR—ufRaH &1 3R geax 3
et =reran @ | R e <feror 1 oiR goa 2 3iR 5 favHl zreran
2 | o= a8 uf¥gd &1 3R g1 2 31R 2 i et ¢ | e # a8
TR D AR ST 3R 6 fp =reft | a8 IR f¥es foig & fopey fem
q8?

(1) sferor-ufd=m
(3) STR-ulR=H

(2) aféror-qd
(4) STR-gd

Space for rough work

10
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“000
41. Earth always pulls everything towards it due to : 41. 11%7:?[ TR & qEg P 3T 3NR Fiadh ©

(1) muscular force (2) mechnical force (1) 7T 9 & BRI (2) TIf3® 91 & BROT

(3) gravitational force (4) electrostatics force (3) WUT I D PRI (4) ReR ﬁ'?gﬂ 9 D BRI
42. The ratio of force, acting perpendicular to the area, 42. &3 @ vdd BRI B dTel g1 BT 3{UTd, 51 ™ ug B

on which it acts is known as HIAT & @ WY H S ST B

(1) Force (2) Friction (1) I (2) =TT

(3) Pressure (4) Density (3) <14 (4) g9
43. A contact force cannot act through : 43. U TP do1 JRIT 7T fobam S Fpar g :

(1) empty space (1) @Al S8

(2) touching (2) wet HE W

44,

45.

(3) touching with a metal rod
(4) touching with a wooden rod

A toy car released with the same initial speed will 44.

travel farthest on :

(1) Muddy surface

(2) Polished marble surface

(3) Cemented surface

(4) Brick surface

In the given figure, direction of friction will be :

—>F

(1) in the direction of force

(2) at right angle to the applied force
(3) opposite to the direction of force
(4) can't predict

45.

(3) uTq @ B H T2l B W

(4) THS D B J WL A W)

FA URE 1§ BIS! T8 T Rl =1 HR T4 AT g2
TS

(1) Hell Hag

(2) Hiferer HHRHR &1 Has

(3) VS Hag

(4) 3T @I HaE

& 718 STl 4, By @l faem B
(M| —>F

(1) 91 31 feem 4

(2) JMRIAT g1 B FHBIV TR
(3) 9@ @ fden & fauRa
(4) STTATT &1 PR Tl

Space for rough work

11
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46. Tyres are treaded to :

47.

48.

49.

50.

(1) Look good

(2) Increase friction

(3) Increase strength of tyres

(4) Increase its life

If the angle of incidence of light falling on a plane
mirror is 30°, what will be the angle of reflection ?
(1) 90° (2) 60°

(3) 30° 4) 0°

Beam of light, bounced back by the surface after
falling on it is called :

(1) Reflecting ray (2) Incident ray

(3) Refracted ray (4) Normal

Far point of a normal human eye is situated at :
(1) 25 m (2) 25 mm

(3) 25 cm (4) Infinity

Light passing through a prism splits into seven
colours. This is called :
(1) Disperion (2) Scattering

(3) Division (4) None of the above

46.

47.

48.

49.

50.

TEST CODE
2004
TRR YRR 91 O & —
(1) 381 fe@q & forg
(2) Bvor 9gM B forg
(3) TRRI @1 TTHd ggT & forg
(4) 39D Wi B geM B forg
Ife U Tt U OR TS dTel UehT3T T J11ad= 101 30° 2,

Tl URTaC HIOT T I ?

(1) 90° (2) 60°

(3) 30° 4) 0°

B Bl fhror, S Aag IR FRA & 916 arovd SBefdl 8, Baar
%\.

(1) Rrafdd favor (2) amufa favor
(3) ruaferd faor (4) ST
T TaReT AHa 311 & forg g famg Rerd gran 2
(1) 25 Hrex (2) 25 fAeirfex
(3) 25 TR (4) 3 =a

O | oI aren yaTer 1 0 H frfd 8 o @ a8
PEAT T :
(1) aui—fagmgor
(3) famrst=

(2) Ta@roE
(4) SR H A BT T8l

Space for rough work
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TEST CODE LASS - VIII
51. Metal, which is kept in kerosen 51. 914, S et & Oa # T ol

(1) Na (2) Mg (1) Na (2) Mg

(3) Zn (4) Au (3) Zn (4) Au

52.

53.

54.

55.

Magnesium is made by reaction with oxgyen
(1) Magnesium oxide (MgO)

(2) Magnesium sulphyde (MgS)

(3) Megnesium chloride (MgCl,)

(4) Megnesium sulphate (MgSO,)

What are the essential substance for combustion 53.

?

(1) Fuel and water

(2) Fuel and oxygen

(3) Fuel and hydrogen

(4) Fuel and Nitrogen

Given below are two statements
A. Coal is a renewable source of energy
B. Coal is a solid fossil fuel

(1) A is true and B is false

(2) A is true and B is also true
(3) A and B are false

(4) A is false and B is not false

Different zones of candle flame is show below. 55.

Identify A, B, and C

Q>

(1) A-outer zone, B- middle zone, C- innermost zone
(2) A-middle zone, B- outer zone, C- innermost zone
(3) A-Innermost zone, B- Outer zone, C- middle zone
(4) A-Innermost zone, B- middle zone, C- Outer zone

52.

54.

AR Sffeie @ w1 srfafhar oxe g9 §
(1) FNERM sfferss (MgO)

(2) HIRRH Aewige (MgS)

(3) FIRRH FiRISS  (MgCl)

(4) F=Nfem wewe (MgSO0,)

e @ v sawys ygrei ® ?

(1) g1 q1 ST

(2) o= e 3ffafior

(3) S doH1 ETSgIo

(4) S TAT ARSI

BRI CURIDE

A. BT SHoll BT FAIHRoN FAT B
B. ®IU Udh 39 forared g9 8
(1) A 97 8 QT B 39T &

(2) AT g qAT B N I B

(3) A T2 B T 39T ©

(4) A 3T & TAT B 3T TE ©
A D1 & & A= &= o1 o g | g A, B, e
C &1 Ugd BHIfSY

Q>

(1) A-911 &3, B- #egH &3, C- 3R &3
(2) A-9egH &4, B- 91e3] &3, C- 3Tk &3l
(3) A-3TaRa® &1, B- 9Tg<) &1F, C- HUH &3
(4) A-3T=aRRe &131, B- #egH &1+, C- dT8<) &

Space for rough work
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56. In an experiment 3kg of a fuel was completely burnt 56.

57.

58.
59.

60.

Tecno'23
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the heat produced was measured to be 9000kdJ.
Calcualte the colorific value of fuel

(1) 1030 KJ/kg (2) 330 KJ/kg

(3) 300 KJ/kg (4) 3000 KJ/kg

State whether the given statement are true or false 57.

(a) The substance which burn in air are called
combustible.

(b) CO, is essential for combustion

(c) Inflammable substances have very high
ignitation temperature

(1) TTF (2) TFF

(3) TTF (4) TTT

The brown variety of coal is

(1) Lignite (2) Peat

(3) Anthracite (4) None of these

The sulphurous acid turns ____ litmus paper ____?
(1) Blue, Red (2) Red, Blue

(3) Red, yellow
Which of the following statement is/are :

(4) Blue, yellow

(a) Fossil fuels are exhaustible resources.

(b) Coal is almost pure form of carbon.

(c) Fossil fuels can be made in the laboratory.
(1) TTT (2) TFT

(3) TTF (4) FFF

58.

59.

TEST CODE
2004

T TANT H 3kg SUF YR AT W O T | I HH Bl
9000kJ AT AT | $899 & S A BT T PN —

(1) 1030 KJ/kg (2) 330 KJ/kg
(3) 300 KJ/kg (4) 3000 KJ/kg
Ay & e T HoF HEl © A1 Ted

(a) ST ugref arg # Sierd 2, 189 FEA ¢ |

(b) &8 & g CO, TS ¢ |
(c) SaTRIS ygTel 1 Sel 9 98 31 Il ¢ |

(1) TTF (2) TFF

(3) TTF (4) TTT

DI DR freT &

(1) fer=rge (2) dre

(3) TreTTSe (4) 7 A I T

AHIR® el foleaq ua dl ___ dRIaig ?

(1) =T, ot (2) &1t , =i

(3) e, dier (4) =efr, el
AR I

(a) STrATeH S I 81 Tl AT §

(b) PRI BT BT T Y& WU ©

(c) STaTed See YT | 91T Ol Hahell ©
(1) TTT (2) TFT

(3) TTF (4) FFF
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TEST CODE CLASS - VIII
2004 PART-E : BIOLOGY ZONE - II
61. Examples of kharif crops are : 61. TG HHA D ISTER B :
(1) Wheat and maize (2) Gram and maize (1) g Ta wa@b1 (2) =1 Td Hefh]
(3) Paddy and maize (4) All of these (3) 911 Ud HarhT (4) SURIET FH

62.

63.

64.

65.

66.

Which of the following is not true for fertilisers?

(1) They increase the yield.

(2) Their excessive use disturbs the balance of
nutrients in soil.

(3) They are generally used in small quantity.

(4) They are environment friendly.

Which of the following statement is not true for 63.

organic manure?

(1) It enhances water holding capacity of soil.
(2) It has a balance of all plant nutrients.

(3) It provides humus to soil.

(4) It improves texture of soil.

Which among the following cell organelles 64.

synthesize lipids ?

(1) Smooth Endoplasmic Reticulum
(2) Rough Endoplasmic Reticulum
(3) Golgi body

(4) (1) and (2) both
Cheek cells do not have .
(1) cell membrane (2) golgi apparatus

(3) nucleus (4) plastid

Of the following parts of a cell listed below, name 66.

the part that is common to plant cell, animal cell
and a bacterial cell.
(1) chloroplast (2) centriole

(3) cell membrane (4) Nucleus

62.

65.

SARG] B FEH H BIAT 919 &l [al © ?

(1) ¥ SUST 9313 &

(2) S0 YD YA HI A Ja&1 3 UIvah] HT T TS
ST ®

(3) MR TR Y HH A1 H YA fhy F1dt &

(4) A gataRo fRad 81 €

ot 5 I I U Wfde @re & forg 98 181 & ?

(1) IE FAEE o STt YRV & 1 F I 2

(2) 3 gt & | TS qedt DT e Bl §
(3) e S DI 3T U Sl &

(4) 8 A @) g1ae B GuRT &

o % | B DI forfie s=ra & 2

(1) for=T sia-uea Sfor
(2) GREN Ay el
ORISR

(4) (1) TeI (2) Q4

et 1 DIFRTDIST + 8l Bl |

(1) DIferE—fSreen (2) st SUBRT

(3) dad (4) wilRes

A2 gEag e TTQ BIfRIT & W # | S I BT A 919y
S UTe DIfrent, Urofl BIfe SfiR Siare] SIfre a3 url
ST 2 |

(1) eRdTaD

(3) DIfrmT—f3reet

(2) TRFD<=D
(4) D=
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Y. CcLC

AAAAAAAAAAAAAAAA

67. Which among the following is the function of 67. ¥ # ¥ BT ASHANIH &1 HTY T -

68.

69.

70.

lysosomes :

(1) Energy production

(2) Protection against the pathogens

(3) Photosynthesis

(4) All of these

Match the column-I with column-II and identify 68.

the correct option :

Column-I Column-II

(i) Robert hooke (A) Disovered living cell

(ii) Robert brown (B) Discovered dead cell

(iii) Camillo golgi (C) Discovered mitochondria
(iv) Leeuwenhoek (D) Discovered nucleus

(v) Kolliker (E) Discovered golgi body

(1) @)-D), (i)-(B), (iii)-(C), (iv)-(A), (v)-(E)

(2) @)-(A), (i)-(B), (iii)-(C), (iv)-(D), (v)-(E)

(3) (@)-(B), (ii)-(D), (iii)-(E), (iv)-(A), (v)-(C)

(4) (i)-(E), (ii)-(B), (iii)-(D), (iv)-(A), (v)-(C)

What is the process of transformation of larva into 69.
adult is called ?

(1) Fertilisation (2) Metamorphosis
(3) Mutation (4) Translation
What is the full form of IVF ? 70.

(1) In vitro fertilisation
(2) In vivo fertilisation
(3) (1) and (2) both

(4) None of these

TEST CODE
2004

(1) Sott g7+
(2) IMTOpT & foveg gRem o
(3) BT HLATT
(4) SuRIET T4
Hiet-1 TG Diad-11 &1 fHe™ s T vd 981 fadeu o
Uzd ‘>'|Q
BieTH-1 Prerd-11
(i) e gF (A) Shfad SIfTeT & @It Bt
(i) Jfde g3+ (B) "R g8 DI &1 WA
(iii) AT TTeSH (C) wTScIdif~gar &I Wi &
(iv) SIa-TeTH (D) BED DI IS B
(v) Dty (E) oSt B &1 @Iet Bl

(1) (B)-(D), (i@)-(B), (iii)-(C), (iv)-(A), (V)-(E)
(2) ()-(A), ()-(B), (ii)-(C), (iv)-(D), (v)-(E)
(3) ()-(B), (i1)-(D), (iii)-(E), (iv)-(A), (v)-(C)
(4) (©)-(E), (i)-(B), (ii)-(D), (iv)-(A), (v)-(C)
al @ g% § ufRad= o) ufhdr i Bl § ?

(1) foes (2) BTITERT
(3) ScaRRadH (4) Jrgare
IVF &1 Q=T 19 &7 & ?

(1) gefagt foer

(2) gAfaar fves

(3) (1) T (2) S

(4) 37 & DI TE
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Class - 8th

| Paper Code : 2004

PART-A: PART-B : PART-C: PART-D : PART-E :
MATHEMATICS MAT PHYSICS CHEMISTRY BIOLOGY
Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans Q.No. Ans

1 3 26 4 41 3 51 1 61 3
2 2 27 3 42 3 52 1 62 4
3 3 28 2 43 1 53 2 63 2
4 4 29 3 a4 2 54 4 64 1
5 2 30 1 45 3 55 2 65 4
6 3 31 4 46 2 56 4 66 3
7 4 32 4 47 3 57 2 67 2
8 2 33 1 48 1 58 1 68 3
9 1 34 2 49 4 59 1 69 2
10 1 35 4 50 1 60 3 70 1
11 2 36 4

12 4 37 3

13 4 38 3

14 1 39 3

15 2 40 3

16 1

17 4

18 1

19 1

20 2

21 2

22 2

23 1

24 4

25 3
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